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4 35,181,300 325, 753 108 35, 181, 300 882, 200 41, 800 325,753 0 0 550 593
EE S = 0 0 0 0 0 0 0 0 0 0 0
i:3 0 0 0 0 0 0 0 0 0 0 0
i 35,181,300 325, 753 108 35, 181, 300 882, 200 41, 800 325,753 0 0 550 593
+ 4,945,600 549,511 9 4,945, 600 882, 200 273,900 549, 511 0 0 521 , 054
XD — 29,961,800 305, 733 98 29, 961, 800 653, 400 41, 800 305, 733 0 0 552 554
+ 1 273,900 273,900 1 2173, 900 2173, 900 2173, 900 2173, 900 0 0 573 478
4 3 375,100 125,033 3 375, 100 185, 900 13, 200 125,033 0 0 526 238
RILR = 0 0 0 0 0 0 0 0 0 0 0 0
i:3 0 0 0 0 0 0 0 0 0 0 0 0
B 3 375,100 125,033 3 375, 100 185, 900 13, 200 125, 033 0 0 526 238
+ 0 0 0 0 0 0 0 0 0 0 0 0
XD — 3 375,100 125,033 3 375, 100 185, 900 13, 200 125,033 0 0 526 238
+ 0 0 0 0 0 0 0 0 0 0 0 0
4 1 739,200 739,200 1 739, 200 739, 200 739, 200 739, 200 0 0 800 924
RHiE = 1 861,300 861, 300 1 861, 300 861, 300 861, 300 861, 300 0 0 914 942
i:3 0 0 0 0 0 0 0 0 0 0 0 0
i 2 1,600,500 800, 250 2 1, 600, 500 861, 300 739, 200 800, 250 0 0 857 934
+ 0 0 0 0 0 0 0 0 0 0 0 0
XD — 2 1,600,500 800, 250 2 1, 600, 500 861, 300 739, 200 800, 250 0 0 857 934
+ 0 0 0 0 0 0 0 0 0 0 0 0
4 0 0 0 0 0 0 0 0 0 0 0 0
Dt = 0 0 0 0 0 0 0 0 0 0 0 0
i:3 0 0 0 0 0 0 0 0 0 0 0 0
i 0 0 0 0 0 0 0 0 0 0 0 0
+ 0 0 0 0 0 0 0 0 0 0 0 0
XD — 0 0 0 0 0 0 0 0 0 0 0 0
+ 0 0 0 0 0 0 0 0 0 0 0 0
4 112 36,295,600 324,068 112 36, 295, 600 882, 200 13, 200 324,068 0 0 551 588
& F = 1 861,300 861, 300 1 861, 300 861, 300 861, 300 861, 300 0 0 914 942
i:3 0 0 0 0 0 0 0 0 0 0 0 0
i 113 37,156,900 328,822 113 37, 156, 900 882, 200 13, 200 328,822 0 0 554 593
+ 9 4,945,600 549,511 9 4,945, 600 882, 200 273,900 549, 511 0 0 521 , 054
XD — 31,937,400 310,072 103 31, 937, 400 861, 300 13, 200 310, 072 0 0 557 557
+ 273,900 273,900 1 2173, 900 273, 900 2173, 900 273, 900 0 0 573 478
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